G 8 O PR B PR % = 225

S B R - |

G8OE IR MIEER
Fams  pegRdA 2 VB maess mamE Eame
G80L-G01 G1/8" 1 5.5 G 18 SG8001
G80L-G02 G1/4" 2 6.5 SG8002
G80L-G03 G3/8" S 8 @ 200 Bar 1 TR SG8003
G80L-G04 G1/2" 4 8 SG8004
G80L-G06 G3/4" 5 12 &5 SG8006
G80L-G08 G1" 6 12 SG8008
G8OEEIRUMIZR
piagrda 8 RME mwewn sxRE E4es
G80L-RO1 R1/8" (BSPT) | 1 5.5 & SG8001
G80L-R02 R1/4" (BSPT) | 2 6.5 SG8002
G8OL-R03 | R3/8" (BSPT)| 3 1 200 Bar vorsn | Tmem SG8003
G80L-R04 R1/2" (BSPT)| 4 8 SG8004
G80L-R06 R3/4" (BSPT)| 5 12 &5 SG8006
G80L-R08 R1" (BSPT) 6 12 SG8008

GBOZEIRHEE IR --NPTHIE R

ER BIME

rrme  pEgRdA E8 FE gppuee,
G80L-NO1 NPT1/8" 1 5.5

G 1/8
G80L-N02 NPT1/4" 2 6.5
G80L-N03 NPT3/8" 3

G1/4
G80L-N04 NPT1/2" 4 8
G80L-N06 NPT3/4" 5 12

G 3/8
G80L-N08 NPT1" 6 12

BRAKE

200 Bar

ERtpE

31675

EHEMR

THEBR

EHERS

SG8001

SG8002

SG8003

SG8004

SG8006

SG8008

G8OEIRF 1R - - UNFAIASER

ER BME

FaEs  pmgRyA 0 B mes,
G80L-U02 | UNF5/16-24 1 5.5

G80L-U03 | UNF3/8-24 1 55

G80L-U04 | UNF7/16-20 1 515) c1e
G80L-U05 | UNF1/2-20 2 6.5

G80L-U06 | UNF9/16-18 3 8

G80L-U08 | UNF3/4-16 4 G 1/4
G80L-U10 | UNF 7/8-14 4 10

G80L-U12 | UNF 1-1/16-12| 5 12

G80L-U14 | UNF1-3/16-12 | 6 12 G 3/8
G80L-U16 | UNF 1-5/16-12| 6 12

BARE

200 Bar

FERFR

316745

THRR

EHELS

SG80UN02

SG80OUNO03

SG80UN04

SG80UNO05

SG80UNO06

SG80UNO08

SG80UN10

SG80UN12

SG8OUN14

SG80UN16

R GBOREFRARARERSRAIIREI
GBOLIRFRIRIE, GBOVRFRIRATRIF, GBOPHERSEIANERE

IR&G8OVAIGBOPE R EEERNSE,

IRES/E 4-6Bar

66




(:;:E;() PR BRI % = 225

i | R R

KNG TURIRIE, FAREREIG80L, SEIRAIG80P, IZFHIKFNGE0V, FIEREMR, MOBIEMS, FiE

HEFMLIRSS .
L2
|, L
L0 =
| )
13 =l |=[H - - _ : _ | N
| ! |
Bl :
LIETARRE, SRR
=
i
L n
F1k4-6 Bl Lo
: T VR RIS, (R
= N 1REZEs
= &) =)0 - =
oy UE : U “
L0 B L6 | &
- L
—— B PotSEIES, ERTFETILEE

FIwmsS B1 (&R O) D1 D2 D3 LO L1 L2 K] L4 L5 L6

1 G1/8" 16 27 27 5.5 6.5 85 38 34 38 32
1A G1/8" 16 27 27 5.5 12.5 90 38 34 38 32
1B G1/8" 16 27 27 5.5 255 105 38 34 38 32
2 G1/8" 20 27 27 6.5 6.5 85 38 34 38 32
2A G1/8" 20 27 27 6.5 12.5 90 38 34 38 32
2B G1/8" 20 27 27 6.5 255 110 38 34 38 32
3 G1/4" 24 32 32 8 9.5 100 46 45 Y 35
4 G1/4" 30 38 32 8 8.5 123 54 45 41 35
5 G3/8" 35 45 32 12 7.5 153 59.5 45 41 35
6 G3/8" 40 50 32 12 7.5 153 67 45 41 35




G 80 RS RIS 228 5

S R R - |

a- Y=

AEED

G8OAHIMIRL BT

Fams  nEgRIA A2 NOE npegs BARE Teme BHEMR SoEDS

RS
G80L-M10C M10 x 1.0 1

G80L-M10D | M10x1.25 | 1
G8OL-M10E | M10x 1.5 1

G80L-M10C-12| M10x 1.0 1A*
G80L-M10D-12| M10x1.25 | 1A | 55 SG80M10
GB8OL-M10E-12| M10x 1.5 1A
GB8OL-M10C-25| M10 x 1.0 1B*
G80L-M10D-25| M10x1.25 | 1B
G80L-M10E-25| M10x 1.5 1B
G80L-M12C | M12x1.0 | 2

G80L-M12D | M12x1.25 | 2

GBOL-M12E | M12x15 | 2

GB8OL-M12C-12| M12x1.0 | 2A*
G8OL-M12D-12| M12x1.25 | 2A | 75 200 Bar 31645 | THRIRIR SG8OM12
G8OL-M12E-12| M12x1.5 | 2A
G80L-M12C-25| M12x1.0 | 2B*

G 1/8

G80L-M12D-25| M12 x 1.25 2B

G80L-M12E-25| M12x 1.5 2B

G80L-M14E M14x1.5 2 SG80M14
G80L-M16E M16x1.5 8 SG80M16
G80L-M18E M18x1.5 ) SG80M18
G80L-M20E M20x1.5 4 8 e SG80M20
G80L-M22E M22x1.5 4 SG80M22
G80L-M24E M24x1.5 5 SG80M24
G80L-M26E M26x1.5 5 12 SG80M26
G80L-M27F M27x2.0 5 SG80M27
G80L-M28E M28x1.5 6 c38 SG80M28
G80L-M30E M30x1.5 6 12 SG80M30
G80L-M33F M33x2.0 6 SG80M33

1. BTSSR, B2,
2. 1A 2A FRREBET2.5mm,
3.1B 2B EHGIEBKAR25.5mm, AT —La M BRAIHA. 68




G 8 O PR SR S RIS 132 =5 215

i fEE | R U

G8OHRIEITIEERA

FRaS =8 RE ez BXRE EHMH BHBNME  SHEDS
G80HL-G02 G1/4" 2 6.5 G1/8" SG80G02
G80HL-G03 G3/8" 3 8 G 1/4" SG80G03
G80HL-M14E M14*1.5 2 6.5 G1/8" SG80M14
G80HL-M16E M16*1.5 3 8 G 1/4" SG80M16

350 Bar 3164555 TEIgER
G80HL-M18E M18*1.5 3 8 G 1/4" SG80M18
G80HL-M20E M20*1.5 4 8 G3/8" SG80M20
G80HL-M22E M22.1.5 4 8 G3/8" SG80M22
G80HL-M27F M27*2.0 5 12 G3/8" SG80M27

® 35

GBOSTEREENRA
RS =2 RIE ppeen, sxRE  E6MN EHEME  SnEDs
G80L-M16ES M16*1.5 3S 8 G3/8" SG80M16
G80L-M18ES M18*1.6 3S 8 G3/8" . SG80M18
G80L-G03S G3/8" 3S 8 G3/8" 20 Bar S A 8 SG80G03
G80L-R03S R3/8" 38 8 G3/8" SG80R03

69




